THE LAW OF

CONSERVATION OF MASS
IN CHEMICAL REACTIONS
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A chemical change, or chemical reaction,

can be represented by a chemical

equation, which shows how the change

took place.

Chemical equation

Reactants
ire + 302(9’
A +

Coefficient Chemical Index of the number
symbol of atoms

+

changes o

Product

T |

Chemical Phase
formula

Phase

s Solid

) Liquid

g Gaseous

aq) In an aqueous Solution
(the solvent is water)




The law of conservation of mass states

that in a chemical change the mass o

the reactants is equal to the mass of

the products.
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1 Example: The combustion of acetylene:
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1A chemical reaction could also be
represented using the particle model.
By drawing the same number of each

type of atoms on the reactant and
product side, we can show that the law
of conservation of mass Is respected.
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